

Page: 1 of 8

# **University of North Texas**

UNT System Business Service Center Denton TX 76205 **United States** 

DUPLICATE		Dispatch Via Print
Purchase Order	Date	Revision
NT752-NT00008226	06-11-2024	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Snyder,Owain Spencer	940/369-5500	-
,	OwainSnyder@my.unt	
	edu	

**Supplier:** 0000023043 Intelligent Interiors Inc 16837 Addison Road Ste 500 Addison TX 75001-5610

**United States** 

This is not a valid Purchase Order. This document is reproduced for reporting purposes only.

Ship To:

Bill To: **UNT System Business** Attention: Lisa Martin Service Center Send Invoices to: invoices@untsystem.edu

1112 Dallas Dr., Ste. 4200

Denton TX 76205 **United States** 

Tax Exer	npt? Item/Description	Tax Exempt ID: Mfg ID	Quantity	UOI		Option: Standard Extended Amt	Due Date
Sch	nom/2000/ipiion	g .2	quantity	00.		Extended / time	Duo Duito
1 - 1	Merge Works - Furniture Standard 66"w x 18"h PET Felt Privacy Panel, 1- Pack, Table Mounted t 1" Surfaces Only, 3 Clampsper Panel		13.00	EA	249.60	3244.80	06/11/2024
					Schedule Total	3244.80	
2 - 1	Global Furniture Group/Global IndustriesSouthwest DESKING AND TABLES (USA)Worksurface power/data module. 2 power/2data receptacles. See diagram for		16.00	EA	145.20	2323.20	06/11/2024
	speclocation, PRODUCTIVITY SOLUTIONS						
					Schedule Total	2323.20	
3 - 1	Global Furniture Group/Global IndustriesSouthwest DESKING AND TABLES (USA) 60"w x 18"h x 69"d, Laminate DesktopModesty Panel ZIRA		2.00	EA	122.32	244.64	06/11/2024
					Schedule Total	244.64	
4 - 1	Global Furniture Group/Global IndustriesSouthwest	-	1.00	EA	407.44	407.44	06/11/2024



**Page:** 2 of 8

#### **University of North Texas**

UNT System Business Service Center Denton TX 76205 United States

DUPLICATE		<b>Dispatch Via Print</b>
Purchase Order	Date	Revision
NT752-NT00008226	06-11-2024	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Snyder, Owain Spencer	940/369-5500	-
,	OwainSnyder@my.unt	
	edu	

Supplier: 0000023043 Intelligent Interiors Inc 16837 Addison Road Ste 500 Addison TX 75001-5610

**United States** 

This is not a valid Purchase Order. This document is reproduced for reporting purposes only.

Ship To:

Attention: Lisa Martin

Bill To: UNT System Business Service Center Send Invoices to: invoices@untsystem.edu 1112 Dallas Dr., Ste.

4200

Denton TX 76205 United States

1230.24 06/11/2024

Tax Exempt? Tax Exempt ID: Replenishment Option: Standard
Line- Item/Description Mfg ID Quantity UOM PO Price Extended Amt Due Date
Sch

2.00 EA

DESKING AND TABLES (USA)36"d x 66"w x 29.5"h, "P" Island w/FullModesty Panel Offset (H-Base), Left,Attaches to Left Side of a Worksurface,Attaching Hardware Included, ZIRA

Schedule Total 407.44

615.12

5 - 1 Global Furniture
Group/Global
IndustriesSouthwest DESKING AND TABLES
(USA)30"d, 2 Stage
Column, Height
AdjustableBase Only,
Long Frame used/w64"w
- 82"wTops, (Tops
Sold Separate),
FREEFIT,PRODUCTIVITY
SOLUTIONS

Schedule Total 1230.24

6 - 1 Global Furniture
Group/Global
IndustriesSouthwest DESKING AND TABLES
(USA)Height
Adjustable Table
Frame, Up/downhandset
with Digital Readout,
Crossbarsexpandable
to match table top
widths, Not toExceed
72"w, Height range
22.6" to 48.6",HEIGHT
ADJ

1.00 EA 552.20 552.20 06/11/2024



**Page:** 3 of 8

#### **University of North Texas**

UNT System Business Service Center Denton TX 76205 United States

DUPLICATE		Dispatch Via Print
Purchase Order	Date	Revision
NT752-NT00008226	06-11-2024	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Snyder,Owain Spencer	940/369-5500	-
	OwainSnyder@my.unt	
	edu	

Supplier: 0000023043 Intelligent Interiors Inc 16837 Addison Road Ste 500 Addison TX 75001-5610 United States

WORKSURFACES,

This is not a valid Purchase Order. This document is reproduced for reporting purposes only.

Ship To:

Attention: Lisa Martin

Bill To: UNT System Business
Service Center
Send Invoices to:

Send Invoices to: invoices@untsystem.edu 1112 Dallas Dr., Ste. 4200

Denton TX 76205 United States

Tax Exempt ID: Replenishment Option: Standard Tax Exempt? Line-Item/Description Mfg ID Quantity UOM PO Price **Extended Amt Due Date** Sch **Schedule Total** 552.20 13.00 EA 552.20 7 - 1 Global Furniture 7178.60 06/11/2024 Group/Global IndustriesSouthwest -DESKING AND TABLES (USA) Height Adjustable Table Frame, Up/downhandset with Digital Readout, Crossbarsexpandable to match table top widths, Not to Exceed 72"w, Height range 22.6" to 48.6", HEIGHT ADJ **Schedule Total** 7178.60 8 - 1 Global Furniture 16.00 EA 27.28 436.48 06/11/2024 Group/Global IndustriesSouthwest -DESKING AND TABLES  $(USA)5"d \times 46"w \times 3"$ h, Wire Manager, BlackPlastic, BRIDGES ΙI **Schedule Total** 436.48 300.52 Global Furniture 13.00 EA 9 - 1 3906.76 06/11/2024 Group/Global IndustriesSouthwest -DESKING AND TABLES (USA)29"d x 70"w x 1" h, Rectangular Top (HeightAdjustable Base Sold Separate), HEIGHTADJUSTABLE



Page: 4 of 8

# **University of North Texas**

UNT System Business Service Center Denton TX 76205 United States

DUPLICATE		Dispatch Via Print
Purchase Order	Date	Revision
NT752-NT00008226	06-11-2024	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Snyder,Owain Spencer	940/369-5500	-
	OwainSnyder@my.unt	
	edu	

Supplier: 0000023043 Intelligent Interiors Inc 16837 Addison Road Ste 500 Addison TX 75001-5610

**United States** 

This is not a valid Purchase Order. This document is reproduced for reporting purposes only.

Ship To:

Attention: Lisa Martin

Bill To: UNT System Business
Service Center
Send Invoices to:
invoices@untsystem.edu

1112 Dallas Dr., Ste. 4200

Denton TX 76205 United States

Tax Exem Line- Sch	hpt? Item/Description PRODUCTIVITY SOLUTIONS	Tax Exempt ID: Mfg ID	Quantity	UOI	•	Option: Standard Extended Amt	Due Date
					Schedule Total	3,000.70	
10 - 1	Global Furniture Group/Global IndustriesSouthwest DESKING AND TABLES (USA)35"d x 70"w x 1 h, Height AdjustableRectangula Worksurface, Base SoldSeparately, FREEFIT BENCHING	п	2.00	EA	376.20	752.40	06/11/2024
					Schedule Total	752.40	
11 - 1	Global Furniture Group/Global Industries Southwest - DESKING AND TABLES (USA)23"d x 46"w x 1 h, Rectangular Top (HeightAdjustable Base Sold Separate), HEIGHTADJUSTABLE WORKSURFACES, PRODUCTIVITY SOLUTIONS	п	1.00	EA	231.88	231.88	06/11/2024
					Schedule Total	231.88	
12 - 1	Global Furniture Group/Global IndustriesSouthwest DESKING AND TABLES (USA)22.6"d x 16"w x 28.5"h, Pedestals, Mobilew/Overhang		1.00	EA	522.72	522.72	06/11/2024



**Page:** 5 of 8

#### **University of North Texas**

UNT System Business Service Center Denton TX 76205 United States

DUPLICATE		Dispatch Via Print
Purchase Order	Date	Revision
NT752-NT00008226	06-11-2024	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Snyder,Owain Spencer	940/369-5500	-
•	OwainSnyder@my.unt.	
	edu	

Supplier: 0000023043 Intelligent Interiors Inc 16837 Addison Road Ste 500 Addison TX 75001-5610 United States

15 - 1 Global Furniture

Group/Global

IndustriesSouthwest -

This is not a valid Purchase Order. This document is reproduced for reporting purposes only.

Ship To:

Attention: Lisa Martin

Bill To: UNT System Business
Service Center
Send Invoices to:
invoices@untsystem.edu

1112 Dallas Dr., Ste. 4200

Denton TX 76205 United States

5841.00 06/11/2024

389.40

Tax Exempt ID: Replenishment Option: Standard Tax Exempt? Line-Item/Description Mfg ID Quantity UOM PO Price **Extended Amt Due Date** Sch w/Box/Box/File Drawers, ZIRA **Schedule Total** 522.72 13 - 1 Global Furniture 7.00 EA 498.08 3486.56 06/11/2024 Group/Global IndustriesSouthwest -DESKING AND TABLES (USA)20"d x 30"w x 23.75"h, 1.5 High StorageModule, Open/Box on Top, Split DrawerStorage on Bottom, Consist of Storage onLeft, Filing Space on Right, ZIRA **Schedule Total** 3486.56 14 - 1 Global Furniture 8.00 EA 498.08 3984.64 06/11/2024 Group/Global Industries Southwest DESKING AND TABLES (USA)20"d x 30"w x 23.75"h, 1.5 High StorageModule, Box/Open on Top, Split DrawerStorage on Bottom, Consist of Filing Spaceon Left & Storage on Right, ZIRA **Schedule Total** 3984.64

15.00 EA



**Page:** 6 of 8

#### **University of North Texas**

UNT System Business Service Center Denton TX 76205 United States

DUPLICATE		<b>Dispatch Via Print</b>
Purchase Order	Date	Revision
NT752-NT00008226	06-11-2024	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Snyder,Owain Spencer	940/369-5500	-
	OwainSnyder@my.unt.	
	edu	

Supplier: 0000023043 Intelligent Interiors Inc 16837 Addison Road Ste 500 Addison TX 75001-5610 United States This is not a valid Purchase Order. This document is reproduced for reporting purposes only. Attention: Lisa Martin

Bill To: UNT System Business
Service Center
Send Invoices to:
invoices@untsystem.edu

1112 Dallas Dr., Ste. 4200

Denton TX 76205 United States

Tax Exempt?
Line- Item/Description
Sch

Tax Exempt ID: Mfg ID

Ship To:

Quantity UOM

Replenishment Option: Standard PO Price Extended Amt

nt Due Date

163.24 06/11/2024

DESKING AND TABLES (USA)20"d x 15"w x 53"h, Storage Modules, Openw/3 Adjustable Shelves, ZIRA

Schedule Total

5841.00

16 - 1 Global Furniture
Group/Global
IndustriesSouthwest DESKING AND TABLES
(USA)36"d x 36"w x 1"
h, TFL, Flat Edge,
Square,Top Only, 1
Base Required, Use w/
EitherGRB22,
GRB22H26, GRB22H35,
GRB22H41or GSB19,
GSB19H26, GSB19H35,
GSB19H41 Base, SWAP,

TABLE

Schedule Total

163.24

17 - 1 Global Furniture
Group/Global
IndustriesSouthwest DESKING AND TABLES
(USA)18.5" x 28"h,
Square Plate Base,
SeatedHeight, Plate
Base w/ 3" Dia x
27.5"hColumn, Fully
Assembled, 1/2" Adj.
Glides,Use w/ Either
GRXTP24,30, 36 or
GRXXNTPOR GRXXTP
Tops,

1.00 EA

1.00 EA

414.48

163.24

414.48 06/11/2024

Schedule Total

414.48



**Page:** 7 of 8

# **University of North Texas**

UNT System Business Service Center Denton TX 76205 United States

DUPLICATE		Dispatch Via Print
Purchase Order	Date	Revision
NT752-NT00008226	06-11-2024	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Snyder,Owain Spencer	940/369-5500	
	OwainSnyder@my.unt	
	edu	

Supplier: 0000023043 Intelligent Interiors Inc 16837 Addison Road Ste 500 Addison TX 75001-5610 United States This is not a valid Purchase Order. This document is reproduced for reporting purposes only.

Ship To:

Attention: Lisa Martin

Bill To: UNT System Business
Service Center
Send Invoices to:
invoices@untsystem.edu
1112 Dallas Dr., Ste.

4200

Denton TX 76205 United States

Tax Exen Line- Sch	npt? Item/Description	Tax Exempt ID: Mfg ID	Quantity	UO		Option: Standard Extended Amt	Due Date
18 - 1	Global Furniture Group/Global IndustriesSouthwest UNIVERSAL FILING (USA)18"d x 36"w x 65.88"h, 5H, w/ Doors, 4 AdjShelves, 1200P SERIES, UNIVERSAL FILING		2.00	EA	876.92	1753.84	06/11/2024
					Schedule Total	1753.84	
19 - 1	Global Furniture		2.00	ΕA	629.20	1258.40	06/11/2024
	Group/Global IndustriesSouthwest UNIVERSAL FILING (USA)18"d x 36"w x 40.5"h, 3H, w/ Doors 2 AdjShelves, 1200P SERIES, UNIVERSAL FILING					22301.10	
					Schedule Total	1258.40	
20 - 1	Global Furniture Group/Global IndustriesSouthwest UNIVERSAL FILING (USA)36"d x 60"w x 1.13"h, Laminate Tog for MetalFiles, UNIVERSAL FILING		1.00	EA	363.88	363.88	06/11/2024
					Schedule Total	363.88	
21 - 1	JSI - SeatingWink Armless Mini Barstoo	ol	2.00	EA	327.59	655.18	06/11/2024



**Page:** 8 of 8

# **University of North Texas**

UNT System Business Service Center Denton TX 76205 United States

DUPLICATE		Dispatch Via Print
Purchase Order	Date	Revision
NT752-NT00008226	06-11-2024	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Snyder,Owain Spencer	940/369-5500	_
	OwainSnyder@my.unt	
	edu	

Supplier: 0000023043 Intelligent Interiors Inc 16837 Addison Road Ste 500 Addison TX 75001-5610 United States This is not a valid Purchase Order. This document is reproduced for reporting purposes only.

Ship To:

Attention: Lisa Martin

Bill To: UNT System Business
Service Center
Send Invoices to:
invoices@untsystem.edu

1112 Dallas Dr., Ste. 4200

Denton TX 76205 United States

Tax Exem Line- Sch	hpt?   Item/Description  - All Plastic- 19dx   18w x 38 1/4h	Tax Exempt ID: Mfg ID	Quantity	UOI		Option: Standard Extended Amt	Due Date
	10W X 30 1/ III				Schedule Total	655.18	
22 - 1	JSI - SeatingWink Armless Wood Leg Guest Chair - AllPlastic- 17d x 18 1/4 w x 32h	3	11.00	EA	475.17	5226.87	06/11/2024
					Schedule Total	5226.87	
23 - 1	VIA, INC SeatingGenie Flex medium B seat, body balance, 8Dblack arms.		16.00	EA	612.00	9792.00	06/11/2024
	arms.				Schedule Total	9792.00	
24 - 1	TX Office Installations - Installation StandardDelivery and Installation	1	1.00	EA	8193.33	8193.33	06/11/2024
	Installation				Schedule Total	8193.33	
					Total PO Amount	62164.78	